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QUESTION 1

Which two (2) critical pieces of information should an administrator consider when working with organizational views and
organizational groups? (Select two.)

A. A resource can be contained by multiple organizational views

B. A resource can be assigned to multiple organizational groups within an organizational view
C. A resource can be contained by only one organizational view

D. A resource can be contained by only one organizational group within an organizational view
E. A resource can be assigned to only one organizational group within an organizational view

Correct Answer: AB

QUESTION 2

Which benefit does a configuration item association provide in the asset management process?
A. Prevents the linking of unrelated items to add in troubleshooting

B. Links resources for more convenient access to associate data

C. Links unrelated items to add in troubleshooting asset discrepancies

D. Prevents the linking of dissimilar items to help in auditing

Correct Answer: B

QUESTION 3

Which two (2) IT Management Suite 8.5 features should an administrator use in order to display an alert if a specified
metric indicates a problem on a server? (Select two.)

A. Event Console
B. Event policy

C. Monitor policy
D. Notification rule
E. Automation rule

Correct Answer: AC
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QUESTION 4

An administrator is tasked with implementing an IT Management Suite 8.5 solution that will centrally manage 30,000
endpoints.

Which is the best architecture to support this environment?
A. Single Noatification Server

B. 1x6 Hierarchy

C. 1x2 Hierarchy

D. Two standalone Notification Servers

Correct Answer: A

QUESTION 5

What is the most common purpose for Network Boot Services on a Site Server?
A. Power managemt and inventory of endpoints

B. Distribution of the deploymeny Jobs/task

C. distribution of the policy based software installations

D. Rollins out new computers during initil provisioning

Correct Answer: B
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